Flentors Eduserv’

SCHOLASTIC APTITUDE TEST [ME-SAT]

SAMPLE TEST PAPER

[For Students presently in Class 11 going to Class 12]
[STREAM: ENGINEERING]

Time : 2 hours Maximum Marks: 180

INSTRUCTIONS
[A] General (9THTA)

1. The question paper consists of THREE Sections, A to C (Physics, Chemistry and Mathematics) having total 60
questions (20 questions in each Physics, Chemistry and Mathematics).

T Y- § A WRTA W C ¥ F5aH et 60 oA (fifersht, T e @i ifvra, e 9@ e fawm & 20 w9) €

2. This Question Paper contains 20 pages including the cover page.
TH JeI-4 § FoR 753 Ffed 20 g8 A

3. Each Section consists of two Parts :
T T T I A B €

* Part-l contains 14 multiple choice questions. Each question has four choices (A), (B), (C) and (D) out

of which ONLY ONE is correct.

o« 9T-1 § 14 SgfaemRedta w9 21 T W9 & 91 fawed 2 € (A), (B), (C) 3R (D) fored ¥ daet Tk € e 7

* Part-ll contains 3 paragraphs each describing theory, experiment, data etc. There are 6 multiple choice
questions relating to three paragraphs with 2 questions on each paragraph. Each question of a particular
paragraph has four choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

o qE-Il H gk 9ol fagid, W, 22 g & 3 oree’ € Yok ofgses W 2 Wl &% Wiy i orsedl 9 et 6
Teferhedta we &1 foret forgie oresR & weis wva § =R faweq (A), (B), (C) 3R (D) €, e @ daet wh & Tel 2
4. The Question Paper has blank spaces at the bottom of each page for rough work. No additional sheets will be
provided for rough work.
Y-S | T 9% & folT Tk Ie3 o A et T @ €| W6 ok o ferw g erfafiea g e faan smam
5. Blank papers, clip boards, log tables, slide rule, calculators, cellular phones, pagers and electronic gadgets, in
any form, are NOT allowed.
fopeht oft w9 A @reft w0, g W€, @i o, WS T, Helhal, YeR B, TR R geiaiten Teied Hi Sratd Tl 8l
6. The OMR (Optical Mark Recognition) sheet shall be provided separately.
OMR (Optical Mark Recognition) I3 37eTi q Y feman s
[B] Answering on the OMR
7. In Part-l & Part-ll of all 3 Sections, each question has 4 choices out of which only one choice is correct.

3 @l & -1 iR -2 H, gk 9e | 4 fashed ¥, fEd 9 hoe w fahey g2t g

8. Darken the bubble with Ball Pen (Blue or Black) ONLY.
ot el I (= A AR ) QT JAG Hl T F

[C] Filling OMR

9. On the OMR sheet, fill all the details properly and completely, otherwise your OMR will not be checked.
OMR ¥ite W, Tt et ik @ iR T @ ¥ K, =12 319s OMR &1 S =&l st ST

10. Do not write anything or tamper the barcode in the registration no. box.
w3 ot 7 fored a1 oSt SE ¥ aRenle ¥ 9eslg 1 #il

SEAL

[D]  Marking Scheme: ( 39 FISFT )

1. For each question in Part-l and Part-ll, you will be awarded 3 marks if you darken the bubble corresponding to the correcf
answer ONLY and zero (0) marks if no bubbles are darkened. In all other cases, minus one (-1) mark will be awarded
in these sections.

-1 3R Tl § Yk § % foq vkl 3 ofeh YR fohan ST AfE 3y Wel STR o STIEY F6ct i hiell HId &1 Al HIE eI
el &l € A I (0) ik fan s v fehedt fearfa o wigem wem (1) 3 e smam

DO NOT BREAK THE SEALS ON THIS BOOKLET, AWAIT INSTRUCTIONS FROM THE INVIGILATOR.
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[2] For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

SECTION-A : PHYSICS (%fdent)

PART -1

(Single Correct Answer Type)

This part contains 14 multiple choice questions. Each question has four choices (A), (B), (C)
and (D), out of which ONLY ONE is correct.

1. Which of the following combinations of three dimensionally different physical quantities P, Q,
R can never be a meaningful quantity ?

(A) PQ —R (ByPQ/R C)(P-Q)/R (D)(PR-Q%/QR

ey wu 9 9= 9ifdes IRRT P, Q, R &1 fF=faRad § & &F a1 GaoT & 97 U
i 31 8l 81 Ahar 87

(A) PQ —R (ByPQ/R C)(P-Q)/R (D)(PR-Q%/QR

2.  Aball thrown upward from the top of tower with speed v reaches the ground in t, second. If
this ball is thrown downward from the top of the same tower with same speed v, it reaches
the ground in t, second. In what time the ball shall reach the ground if it is allowed to fall freely
under gravity from the top of the tower?

t,+t, t,—t,

(A) =5 (B) "5+ (C) i, (D) t, +t,

TR & MY I HUR Pl AR Bl T8 U Q t, Fbs H SHF W Ugerd! ¢ | IS 597 7T B
I AR & Y A A9 BT AR FHH A1 A BT ST &, AT I8 t, Adbs H S IR Ugd
S 21 AfE A B SR B HUWR @By & ded W@ad wd ¥ AR &3 Sy ar 98
fpd @ ¥ SIF R ugd Siel?

t,+t, t,—t,

(A) =5 (B) "5+ (C) i, (D) t, +t,

3. The graph given shows the velocity v versus time t for a body. Which of the following graphs
shown represents the corresponding acceleration versus time graphs?

fegr a1 U Ue fie & U 9 v g9 99y ¢ fewrar 2| fexarar war e | 9 e 9
YT FIT @R g9 THI YTh BT Wii-Ieed Bl &7

N
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For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER] [3]

I—>
I
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[
(C) — o N/

4. A shellfired from the ground is just able to cross in a horizontal direction the top of a wall 90
m away and 45 m high. The direction of projection of the shell is

(A) 25° (B) 30° (C) 60° (D) 45°
S I G AT Ueh el Ueh alfarot &= # 90 #ex g 3iR 45 Alex Hdl 1R & Y Bl
UR H_A H WeH T el @ Yegor o 39w 7

(A) 25° (B) 30° (C) 60° (D) 45°

5. Two blocks, each having a mass M, rest on frictionless surface as shown in the figure. If the
pulleys are light and frictionless, and M on the incline is allowed to move down, then the
tension in the string will be

Tl <, U &I SIAE M B, 991 T fom # fearar T g, g¥o7 jf2d Jd8 IR IR ed
g1 af% goell g SR oo 2T € @R gdra R M &I i o ey s ®, ar Rgw
SRICESEI

2 . 3 :
(A) gMgsme (B) EMgsmG © (D) 2 Mg sin 6
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(4]

6.

For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

1
Block A moves upward with acceleration Em/sz_ The acceleration of block B in downward

direction will be

@ﬁ'aﬁA@'@T%m/sza%wawaﬁsﬂ?mﬁlﬁﬁaﬁﬁwﬁ%ﬁtﬁBmwm

(A) 2 m/s? (B) 3 m/s? (C) 4 m/s? (D) 6 m/s?

The angle which a vector 7 — j+/2 k makes with y-axis is

TP AR [ 12 k y—3& & A Sl PIT 9T & I8 &

(A) 60° (B) 120° (C) 150° (D) tan-! (-%)

If position (in meter) of a particle moving in straight line is given by x = t? — 2t + 1(where tis
time in second). The distance travelled by particle in first two second is

afe At @ # wfaeE i dor o Rafa (e #) x=t2-2t+1 & Sl  (SEf t Abs
H AT B) | U I Whe H B gRI A9 DI T8 G ©

(A) =™ (B)2m (C)4m (D)3 m

Three blocks of masses 2kg, 4kg and 6kg are connected by string and resting on a frictionless
incline of 60° as shown. Aforce of 120N is applied upward along the incline to the 6 kg block.
If the strings are ideal, the ratio T,/T, will be (g = 10 ms™)

SAM & M e 2kg, 4kg 3R 6kg IR A IS 8V & 3R 60° & YT I2d gHd R Tb
8Y © il & fa=amar m 21 120N &1 9 6 (3T &lids @ gebTd & AT HUR DI AR AT
ST § | Afe R oS §, A1 o/gu T,/T, BT (9= 10 ms™)
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For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER] [5]

10.

11.

12.

F

(A)1:1 (B)1:2 (C)1:3 (D)1:4

With what acceleration ‘a’ should the box of figure descend so that the block of mass M
exerts a force Mg/4 on the floor of the box?

JATPHIT BT e fhd @ROT W ‘g’ | A1 SaARAT =AY dMfs M SIA BT [ShT diad & Bl
R Mgl4 1 T A& ?

[M]
(A) gl4 (B) g/2 (C) 3g/4 (D) 49

A motorboat going downstream overcomes a raft at a point A. After one hour it turns back and
meets the raft again at a distance 6 km from A. Find the velocity of river in (km/hr).

T AT JITHATE 3 oI V&1 U g% Pl fdg A IR UR &=l 8 | U € & 915 98 a4 gl
2 3R A 6 fFM &1 g0 W R ¥ d91 9§ fyerh g1 78 &1 9 (e /=er #) ga i |
(A) 1 (B) 2 (C)3 (D) 4

Pulleys are ideal and string are massless. The masses of blocks are m, =4 kg and m, =1 kg
as shown. If all surfaces are smooth then the acceleration of m, in m/s?is (g = 10 m/s?)

Pulleys 33l 8d & AR TR S&EM I2d 81d | Q@Y MU JgaR el b1 G4
m=4fbur SR m, = 1 four 2| I @ 92 RPN & O m, 1 m/s?2 § &R §
(@ = 10 m/s?)

o]
(A) 2 (B) 4 (C) 6 (D) 8
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[6] For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

13. Ablock of mass 5 kg is kept on a rough horizontal floor. It is given velocity 33 m/s towards

right. A force of 2042 N continuously acts on the block as shown. If the coefficient of friction
between block and floor is 0.5, find the velocity of the block after 5 seconds. (g = 10 m/s?)

5 fHUT SIMAM &7 Uh i b QRGN Aol ddf IR @7 17 ¥ | 39 T/ 3R 33 m/s O

form T & | fIATY T SR @i TR 2072 N &7 e 9 AR SR Sl | A i

AR WY & drF GYT P YN 0.5 B, Al 5 UbS ® dI1G @l B I AT DI |
(g =10 m/s?)

(A) O (B) 1 (C) 2 (D) 3
14. A balloon rises from rest on the ground with constant acceleration g/8. A stone is dropped
when the balloon has risen to a height of H m. The time taken by the stone to reach the

nH
ground is ,/E . Find n.

U JeRT S IR 3R I fARAR @R g/8 & 1l HUR I3l & | U YR FIRTm Sirer 8

H
T4 TERT Hm & $HA18 6 96 ST © | @R BT S IR Ugas H oW dTell 9 \/%

2 @ |
(A) 2 (B) 4 (C) 5 (D) 6
PART —11
(Paragraph Type)

This part contains 6 multiple choice questions relating to three paragraphs with two questions
on each paragraph. Each question has four choices (A), (B), (C) and (D) out of which ONLY
ONE is correct.

Paragraph for Questions 15 and 16
A smooth ring of mass m can slide on a fixed horizontal rod. A massless string tied to the ring
passes over a fixed smooth pulley of mass m and carries a block of mass 2m as shown in figure.
At an instant the string between ring and pulley makes an angle 6 = 30° with the horizontal.
ST m BT U IHAT 9aid U FRFd 8fas e R g o Adhdl ¢ | R 9 9471 ta saaA
BT IR SIEE m & Yo FREd e @REN & HW F [oRdT & AR SIFE 2m & Udh <ldh
DI T8 Bl & ol b o # fegmr war 21 Ue g H R 3R =Rl & 4/ &1 R afds &

1T 0 = 30° BT IO g7dT & |
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For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

15. Acceleration of block is
A Eg
(A)
ifh DT ORI &
A Eg
(A)
16. Acceleration of ring is
A Eg
(A)
qolg DT R o—

3
(A) 58

§ E
® 5 © %g
® 5 © %g
® 5 © %g
® 5 © %g

Paragraph for Questions 17 and 18

(7]

(D) none of these

(D) THH & IS TEl

(D) none of these

(D) 38 ¥ DI el

The velocity v of a body moving along a straight line is varying with time tas , = 42 _ 44, where v is

in m/s and tis in seconds.

Uep el N7 | A fE &1 9 v GHT t © A1 9Sof NET §, OEl y—;2 _4¢ ¥ ¢ 3R t Abse

H gl

17. The magnitude of initial acceleration is

(A) zero

URfAH RO T TRATT

(A) =d

18. The magnitude of displacement of particle in first three seconds is

(A) zero

Ugel diFd Abs H BT & favenus &1 gRHrT

(A) =3

(B) 2 m/s? (C) 4 m/s?
(B) 2 m/s? (C) 4 m/s?
(B)9m (C) 18 m
(B)9m (C) 18 m

(D) 6 m/s?

(D) 6 m/s?

(D) 27 m

(D) 27 m
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(8] For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

Paragraph for Questions 19 and 20

Ariver of width d is flowing with uniform velocity u. A boat starts moving from point A (one bank of
river) with speed u relative to the river. The direction of resultant velocity is always perpendicular to
line joining boat and fixed point C (see figure). Point B is on the opposite side of the river and A, B,
C are in straight line. If AB=BC=d

SIS d B Y 4T UHHAM o u ¥ 98 &1 © | U 919 f[dg A (T & T HAR) A 741 & Aed
T u IS Y BRI © | TR AT B (I gHem A9 R ReRr fdg ¢ &1 M arell wwan
& d9aq gl 7 (<) | fdg B 941 @ fauRia faem # 3R A, B, C U 4l @1 & 2 ok
AB=BC=d ©

0C

19. The path of boat is

(A) straight line (B) parabolic

(C) circular (D) curve but not parabolic or circular
19 BT IR

(A) et =T (B) WRII®

(C) TMeATdR (D) T <l WA ID AT MATHR ol

20. The distance from B where the boat will reach the other bank of river is

d
(A)d (B) dv2 ©) 5 (D) d+/3
B ¥ gl STEl | A1d Al & ¥R bR b gl

d
(A)d (B) d2 ©) 5 (D) d+/3
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For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER] [9]

SECTION-B : CHEMISTRY (YHAT I1THA)

PART -1
(Single Correct Answer Type)

This part contains 14 multiple choice questions. Each question has four choices (A), (B), (C)
and (D), out of which ONLY ONE is correct.

21.

22,

23.

24,

Which of the following statement is correct in relation to the hydrogen atom?
(A) 3s—orbital is lower in energy than 3p—orbital.

(B) 3p—orbital is lower in energy than 3d—orbital.

(C) 3s and 3p-orbitals are of lower energy than 3d-orbitals.

(D) 3s, 3p and 3d-orbitals all have same energy.

gSeio WA & Gy § f=feiRed # | o9 1 $oe 98 27
A) 3s—PHeTdh 3p—Held B oIl H Holl H HH T |

B) 3p—F&d 3d—DHed B T H Ipoll H HH T |

C)3s 3R 3p—FHedh 3d—HeTdi I oIl § HH Fpoll Tl B |
D)3s, 3p 3R 3d—3fffdced 1 # A ol BKRiT B |

How many electrons will have m (magnetic quantum number) = 0 in Fe3* ion?

(
(
(
(

Fe* M # foha selagHl W m (@1 gaicH |w&) = 0 BR1?
(A) 12 (B) 13 (C) 11 (D) 14
Equal weights of ethane and hydrogen are mixed in an empty container at 25°C. The fraction

of total pressure exerted by hydrogen is?

99 3R BSSIoH & FHM YR Bl 25°C TR UH WTell Ura H fHARIT ST 2 | esioiT gR
MY Y fed Ga1d BT 3T 27
(A)1:2 (B)1:1 (C)1:16 (D)15: 16

If 'V’ is the volume of one molecule of a gas under given condition, then vander Waal’s constant ‘b’

is

afe & 18 Reifay # ff 9 @& U@ @] &1 omua v’ 8, @1 aiexdrdl &1 fadia v &
4V N,

(A) 4V (B)N_0 (C) eY; (D)4VN,
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[10] For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

25. 4.0 gof argon in a bulb at a temperature of T K has a pressure P atm. When the bulb was
placed in water bath at a temperature 50°C more than the first one, 0.8 g of gas had to be

removed to get the original pressure. T is equal to

TK & T9 TR Udh dcd H 4.0 g 3MFH BT 19 P atm BIT 8 | ST ded bl U8t dTel & 50°C
& YA OR YT H T S &, O 9ol GdTd 91 $_1 @ o7 0.8 U™ I-F Bl Hebrer=n

Jgar 2| T aRTeR 2 |
(A) 510 K (B) 200 K (C)100 K (D)73K

26. Which of the following has the highest first ionization energy?

(A) Sulphur (B) Oxygen (C) Nitrogen (D) Phosphorus
ferforRaa & I fraa! god s Sl 9a9 31fdd 87
(A) HEHR (B) Sifa=iTST= (C) TSI (D) HIEHRHA

27. CI-and K* are isoelectronic then
(A) their sizes are same
(B) CI-ion is relatively bigger than K* ion
(C)K*ion is bigger than Cl-ion
(D) their sizes depend on other cation and anion
Cl- 3R K* S¥galagia g al

(A) S9H MR A &

(B) CI- JMIF K* 3T A e T ©
(C) K* 34 CI- 39 ¥ &7 ®
(D) S9Td 3MBR 3T TATI 3R KU R ¥R a2 |

28. Which of the following is definitely true for elements A and B which occur in the same group of

the periodic table and B occurs below A?

(A) Atomic number of B > atomic number of A.
(B) Atomic size of B > atomic size of A.

(C) lonisation energy of A > ionisation energy of B.

(D) Electron affinity of A> electron affinity of B.
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For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER] [11]

ferforRad § & @9 a1 a@ A IR B forg fAf¥aa wu & 97 8 S efad AR & UH &
e ¥ B © 3R B,Ad A BT B?

(A) B &1 URHIY] H&AT> A B URHTY AT |

(B) B &T URHAIY 3MHR > A BT URHIY MK |

(C) A @I JMINHRT Holl > B Bl MAABIOT Sl |

(D) A ST JMHIAT > B Bl Seldg = AHIT |

29. How many moles of magnesium phosphate will contain 0.25 mole of oxygen atoms?

(A) 3.125x 102 (B)1.25x 102 (C)2.5 x 102 (D)0.02
FIRRM B & fhas Al § 0.25 Al SifaRITOT URHTY] B8RP
(A)3.125x 102 (B)1.25x 102 (C)2.5 x 102 (D)0.02

30. Density of a 2.05 M solution of acetic acid in water is 1.02 g/ml. The molality of the solution is
(Atomic mass: H=1,C =12, O = 16)
g # vRifed RIS & 2.05 M el &1 897cd 1.02 g/ml & | BTt &1 AdAforel &
(AT | : H=1,C =12, O = 16)
(A) 3.28 mol kg™ (B) 2.28 mol kg™ (C)0.44 mol kg™ (D)1.14 mol kg™

31. Aphoton of 19.6 eV energy strikes a H-atom (in its ground state). Find de-Broglie wavelength
of electron ejected from H-atom (in A).
19.6 €V Jull BT T HICH T H—TURATY (30T YR 3awel #) | THar & | H—IRA]
(A ) ¥ FpTel T gelag ™ & S—8lTell RIS I DI |
(A) 1 (B)3 (C)5 (D)7

32. What is the volume of water in ml of 3.011 x 102 molecule of water ? (d = 1g/ml)
3.011 x 102 UM & 3] & fHellelle’ | Ul & A3 91 8 2 (d = 1g/ml)
(A) 3 (B)6 (©)9 (D)12

33. AV dm? flask contains gas A and another flask of 2V dm? contains gas B at the same
temperature. If density of gasAis 3.0 g dm= and that of gas B is 1.5 g dm=and mol. wt. of A
= 1/2 mol. wt. of B, then what will be the ratio of partial pressure of gas A to that of gas B ?
TH Vdm? FaRd H I AR 8 3R 2V dm* & Udh 3T Uk H A d19H= WR 34 B
B 21 afe T APT 89 3.0 gdm™ B 3R T B &1 &9 1.5 g dm= 3R A &1 3nfoas
A = 1/2 mol. wt. x B T 3ATVgeh Seqd &, a5 19 A & 373 <79 3R 1 B & 3Hifred
Q19 T AT &1 BIIT?
(A) 1 (B)2 (©)3 (D)4
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[12] For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

34. |If 4 g of oxygen diffuse through a very narrow hole, how much hydrogen (in gm) will diffuse

under identical conditions?

(A) 1 (B)2 (C)3 (D)4

Ife 4 g ARG b dgd & Gaiol g A Bordl 8, o GaF qRRefdl & fobdar
ggsod (UM #H) faaRa gem?

(A) 1 (B)2 (C)3 (D)4

PART —11
(Paragraph Type)

This part contains 6 multiple choice questions relating to three paragraphs with two questions
on each paragraph. Each question has four choices (A), (B), (C) and (D) out of which ONLY
ONE is correct.

Paragraph for Questions 35 and 36

Molarity, molality, mole fraction are used in these days for stoichiometric calculations. It is

necessary to write balanced chemical equation when calculations are done in terms of molarity.

3 et wigerfes oM & forv iR, Araferd), Aict B &1 SUANT fhar ST 2 | 5Td
TOMT HRAT & W0 § ] Sl & df Sqfeld IRIeh FHIHR01 foRa=T Jaead eidm 2 |

35. 38% HCl has density equal to 1.20 g ml='. The molality and molarity respectively are —
38% HCI &T 89T 1.20 g ml-' & axTER 1T & | HATT Ardfere! iR AlaRer € —

(A)12.4,16.7 (B) 16.7, 12.4

(C)12.4,12.2 (D)16.7,16.7

36. 10 ml of 1M BaCl, solution, 5 ml of 0.5 M K, SO, is added BaSO, is precipitated out. The
amount of BaSO, ppt. will be -

1M BaCl, g1 &7 10 fell, 0.5 MK,SO, &7 5 fi¥ell Sirel ST &, BaSO, 3f@eifid 8Iar 2 |
BaSO, WHI<T @ ArAT| BN —

(A) 0.0025 moles (B) 0.025 moles

(C)0.00025 moles (D)0.0050 moles
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For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER] RED

Paragraph for Questions 37 and 38

The first (IEq) & second (IE») ionisation enthalpies (KJ/mole) of three elements, A, B, C are

given below :

A B C
L.LE4 403 750 1142
L.LEo 2640 1500 2080

In an experiment 1/12 mole of B atom in vapour phase absorb 100KJ of energy so that it

forms a mixture of B* & B2 ions.

{9 Tt A, B, C @ ggell (IE4) 3R T (IEp) M Twdiedl (KJ/mole) < < 7€ 2 |

A B C
I.E4 403 750 1142
L.LEo 2640 1500 2080

T YANT H arsq =ROT H B URAY] BT 1/12 Al 100KJ Kol Bl e dall & oy
I8 BY &R B2* sl &7 sy g9 2

37. Most suitable outer most configuration of element ‘A’ is—
(A) ns1 (B) ns2 © nsZnp (D) ns2.np2
T ‘A BT Fad IUYh de O 5—
(A) ns' (B) ns2 © nsznp1 (D) nsz.np2
38. Energy utilized to form B*2 from B* in experiment is —
(A) 1500 KJ (B) 750 KJ (C)62.5KJ (D) 37.5KJ
TarT # BY & B2 @9 @ forg STANT @ WM dTell Soit § —

(A) 1500 KJ (B) 750 KJ (C) 62.5 KJ (D) 37.5 KJ
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Paragraph for Questions 39 and 40

The graph represents Z versus P for 1 mole of several gases at 300 K.

U 300 K TR bs iK1 & 1 Al & folv Z 919 P Bl ST 2 |

s N fen
----- o 4
1.5 —a—71— A H,
e :::'.'.:.;.r g ") C02
DY 10 4 e
RT &7
0.5 |ert”

0 200 400 600 800
P (atm)

39. The deviation of CO, from ideal behaviour at 100 atm is best explained by-
(A) Intermolecular attractions (B) Molecular volume

(C) Molecular shape (D) Temperature

100 atm WR 3Me¥ AR W CO, d Ao @I HeaT 376! TRE A AHMAT TAT 8—
(A) STRAMTRIR ATHYT (B) =murfass AT
(C) 3MUIfddh AMHR (D) dToHH

40. The greatest contributing factor for all gases to deviate from ideal behaviour at extremely high

pressure is

(A) Intermolecular attractions (B) Molecular volume

(C) Molecular shape (D) Temperature

IS ITd JM@ W T 1 & 377ee FIgR 4 fage & foly Ja 9971 R & |
(A) SexHifTager rhyor (B) A AT

(C) 3MIfdd 3PN (D) dT9E
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SECTION-C : MATHEMATICS (ITfuTd)

PART -1

(Single Correct Answer Type)

This part contains 14 multiple choice questions. Each question has four choices (A), (B), (C)
and (D), out of which ONLY ONE is correct.

41. Inatriangle ABC, ifAis (1, 2) and equations of the medians throughBand Carex+y =5
and x = 4 respectively, then B must be the point

ST ABCH A& A (1,2) § 3R BAAT C W UTH PR dTel AR BT FHIGRIT X +y = 5
IR x=4 g a1 Bfdg 2|

(A)(1,4) (B) (7.-2) (C) 4.1) (D) (=2,7)

T T Y T
. in| ——A —+B ——A|sin| =+B|i
42 The value of sm[4 Jcos[4+ j+cos[4 Js [4 JIS
sin|] Z-Alcos| Z+B |+cos| - Alsin| Z+B| &1 AF &
4 4 4 4

(A) sin (A-B) (B) sin(B-A) (C) cos(A-B) (D) 2

43. In any G.P. the first term is 2 and last term is 512 and common ratio is 2, then 5" term from

end is-

(A) 16 (B) 32 (C) 64 (D) None of these

fpdl G.P. # Ugell Ug 2 & 3IR 3| Ug 512 2 3R A1 UM 2 &, O 3fd A 5 df UG &l

A T

(A) 16 (B) 32 (C) 64 (D) 34 ¥ PIg el
44. Ina certain A.P., 5 times the 5th term is equal to 8 times the 8th term, then the 13th term is

equal to

(A) =13 (B) —12 (C) -1 (D) None of these

fefl AP # 54 g &1 5 UM, 84 UG & 8 UM & a¥TeR ©, AI 12df IS @
(A) —13 (B) —12 (C) -1 (D) 34 ¥ PIg el
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[16] For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

45. Iftang =a # 0,tan 20 =b = Oand tang +tan20 =tan 30 then
(A)a=b (B) ab=1 (C) a+b=0 (D) b=2a
Ife tan® =a = 0,tan 20 =b = 03N tang +tan20 =tan 30 T @
(A)a=b (B) ab=1 (C) a+b=0 (D) b=2a

46. Solve [x-2|-1>3
(A) (~=,—2]U[6, ) (B) (- 2)u(8, =)
(C) (—, 2)u[6, =) (D) none of these

x-2/-123 @ g1 X |

(A) (~=,—2]U[6, ) (B) (- 2)u(8, =)
(C) (- 2)u[6, =) (D) T & 1% Tel
47. The solution set of the inequation X__2 >2, is
(A) (2,3) (B) [2,3]
(C) (o0, 2) U (3, ) (D) None of these
arafieT :__;>2,7:b"r3?f Gkl
(A) (2,3) (B) [2,3]
(C) (0, 2) L (3, =) (D) 99 | BIg el

48. Iflogsy = xand log,z = x, then 72%is equal to
IfS logay = x 3R log,z = x AT 72X aRMER 8 ?
(A) yz® (B) y?z® (C) y32? (D) y3z3

49. If A={x/xel x*<150} and B={x/xeN, x* <1500} then |n(B)-n(A)| is

afd A={x/xel x* <150} 3R B={x/xeN x*<1500}q [n(B)-n(A)|& ?

(A) 13 (B) 1 (C) 12 (D) 14
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For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER] [17]

50. The equation of a straight line having equal intercepts and passing through (3, 5) is
M AT qTell AR (3, 5) H I[OR+ dTell b AT IG@T BT FHIGIOT § 2
(A) x+y-2=0 (B) x—y-4=0 (C) x+y=8 (D) x+2y-1=0
51. If sin0+cosecOd=2 then sin®0+cosec?0 is

IfT sinO+cosecOd=2 dT sin?0+cosec’d & ?

(A) 1 (B) 2 (C) 3 (D) 4

52.  The number of integers lying between the solution set of log, (x* —5x+7)>0 is
2

log, (x* =5x+7)>0 & & WA H Uil & HeA fopereit & ?

(A) 0 (B) 1 (C) 2 (D) 3

53. IfP(1,2),Q(4,6), R(5, 7)and S(a, b) are consecutive vertices of a parallelogram PQRS,
thena + b is

Ife FHIAR Igqel PQRS @ HAFTA ¥ ¥ (1, 2), Q(4, 6), R(5, 7) 3R S(a, b) @ al

a+b g
(A) 1 (B) 3 (C) 5 (D) 7
a +b" ,
54. If T the HM between a and b then n is

af a sl b B G HM —— 2 % ot n oy A & ?

an—1 + bn—1

(A) 0 (B) 1 (C) 2 (D) 3
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RER For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER]

PART —11
(Paragraph Type)

This part contains 6 multiple choice questions relating to three paragraphs with two questions
on each paragraph. Each question has four choices (A), (B), (C) and (D) out of which ONLY
ONE is correct.

Paragraph for Questions 55 and 56

A triangle is formed by the lines y = x, y + x = 2, y — 2x = 4. The orthocentre H of triangle is
joined with two points P and Q on the circumcircle of the triangle so that area of triangle HPQ
is maximum.

Th ST y=x, y+x=2,y—2x=4. \GRI ¥ g9d1 2 | BT &1 dadb= H B & aRgd
R g1 figali P ok Q & fieman Sar & aifd s HPQ &7 &3l ifdesdH 81 |
55. The area of triangle HPQ is

3743 J3

(A) 37msq.units (B) 2 sq. units (C) qu. units (D) none of these

|| HPQ 35t @l &3l & 2

(A) 377sq.units (B) 374;/5 sq.units  (C) ?sq. units D EEEEIERE

56. Inradius of triangle HPQ is

") V37 ® 7 ©) 237 o) &0
| | HPQ @ er=<a:f3r=m © ?
") V37 ® 7 ©) 237 o) &0

Paragraph for Questions 57 and 58

Four different integers form an increasing A.P. One of these numbers is equal to the sum
of the squares of the other three numbers. Then

IR 3 QUi 9ed g¢ AP. 9910 & | $H U U G I N GRS B qn
% AN B wWER T Al

57. The smallest number is :

(A) -2 (B)0 (C) -1 (D) 2
I BT G G=T g O?
(A) -2 (B)0 (C) -1 (D) 2
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For Students in Class 11 going to Class 12 (ENGG.) | [SAMPLE TEST PAPER] [19]

58. The common difference of the A.P. is
(A) 2 (B) 1 (C) 3 (D) 4
AP, &1 € IR & ?
(A) 2 (B) 1 (C) 3 (D) 4

Paragraph for Questions 59 and 60

b_1.

Consider the following relations: xcos0 +ysin0 = xcos ¢+ ysin¢ = 2a, and 23ingsin— =
frferRaa Heel R TR & -
59. The value of cos6 +cos¢ will be

4ax 4ax 4ax 4ax

(A) 2 _y2 (B) Y (C) 21 y? (D) T2 —y?)

cosO+cosd I AM BRIT ?

4ax 4ax 4ax 4ax

(A) 2 _y2 (B) Y (C) 21 y? (D) T2 —y?)

60. The relation between x and y after eliminating both 6 and ¢ will be
(A) y* = 4a(a-x) (B) y2=4a(a+x)
(C) x? = 4a(a-y) (D) x? = 4a(a+y)
T 03R ¢ B I PRA D d1& x AR y B 419 BT HIg T 81T ?
(A) y? = 4a(a-x) (B) y2 = 4a(a+x)

(C) x* = 4a(a-y) (D) x2 = 4a(a+y)
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